
<latexit sha1_base64="5B7wykEp5X1d00VtUWWHuZds3n0=">AAAB+nicbVDLSgMxFM3UV62vqS7dBIvQbspMKSqCUHDjskIfQjsMmTTThmYeJneUMvZT3LhQxK1f4s6/MW1noa0HLvdwzr3k5nix4Aos69vIra1vbG7ltws7u3v7B2bxsKOiRFLWppGI5J1HFBM8ZG3gINhdLBkJPMG63vh65ncfmFQ8ClswiZkTkGHIfU4JaMk1iy0X8H3ZquDLK92hgl2zZFWtOfAqsTNSQhmarvnVH0Q0CVgIVBClerYVg5MSCZwKNi30E8ViQsdkyHqahiRgyknnp0/xqVYG2I+krhDwXP29kZJAqUng6cmAwEgtezPxP6+XgH/hpDyME2AhXTzkJwJDhGc54AGXjIKYaEKo5PpWTEdEEgo6rYIOwV7+8irp1Kr2WbV+Wy81alkceXSMTlAZ2egcNdANaqI2ougRPaNX9GY8GS/Gu/GxGM0Z2c4R+gPj8weVSJGU</latexit>

Ttq(0) := q(t)


